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GEOMETRIC CONSTRUCTIONS
MA 7 . .
1. AAMT-AAHE and A~ 3 then which of the following is true
?
A. A-H-M
B. A-M-H
C. M-A-H

D. A-T-E


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E9nT82Pfoj0B

Answer: A

o Watch Video Solution

2. ARHP-ANED and % = % then which of the foloowing is true

A.ARHP is a bigger triangle
B. ARHP is a smaller triangle
C. Both the triangles are congruent

D. Bigger or smaller triangle cannot be determined

Answer: B

° Watch Video Solution

3. For the construction of a tangent to a circle without using its centre,

the property used is


https://dl.doubtnut.com/l/_E9nT82Pfoj0B
https://dl.doubtnut.com/l/_IEUNnt0mBnsK
https://dl.doubtnut.com/l/_yT0NsrRnVt5W

A. tangent segment theorem

B. inscribed angle theorem

C. tangent secant theorem

D. intersectiong chords theorem

Answer: C

o Watch Video Solution

52 1 Mark Each

1. Draw seg AB of length 4.2 cm. Construct its perpendicular bisector.

° Watch Video Solution

2.Draw ZABC = 115°, construct its bisector

° Watch Video Solution



https://dl.doubtnut.com/l/_yT0NsrRnVt5W
https://dl.doubtnut.com/l/_oRT2nSuNRtAa
https://dl.doubtnut.com/l/_KUObyOOGDIzn

3.To devide a given line segment in a given ratio :

Draw seg PQ of length 7 cm. Divide it in the ratio 3: 2

o Watch Video Solution

1. Draw a circle of radius 3 cm. Mark a point P on the circle. Draw tangent

to the circle through point P using the centre of the circle Analysis

A circle of radius 3 cm can be drawn. Let the cemntre of the given circle
be O and line | be the required tangent

We know, converse of tangent theorem states that , ‘A line perpendicular
to radius at its outer end is tangent .

‘. We construct perpendicular to radius OP at point, then line | is the


https://dl.doubtnut.com/l/_KUObyOOGDIzn
https://dl.doubtnut.com/l/_7qtfhS3S40vm
https://dl.doubtnut.com/l/_YiSW6eVhZ0iN

required tangent .

3 cm

° Watch Video Solution



https://dl.doubtnut.com/l/_YiSW6eVhZ0iN

2. Draw a circle of radius 3 cm. Take any point P on it. Draw tangent to
the circle through point P without using the centre of the circle

Analysis :

Through P, a chord can be drawn. Let it be PA. Draw any ZPBA in the
alternate segment. Now and ZaPC can be constructed congrument to
ZABP , then by converse of tangent secant angle theorem line PC is

the required tangent.

o View Text Solution



https://dl.doubtnut.com/l/_5t4MUoN3S4vt

1. Draw a cirle with centre P. Draw an are AB of 100° measure

Draw tangent to the circle at point Aand B

o Watch Video Solution

2. Draw a circle of radius 3.3 cm. Draw diameter PQ. Draw tangents at P

and Q. Write observation about the tangents.

o Watch Video Solution

3. Draw a circle with radiuys 3.4 cm. Draw a chord MN of length 5.7 cm in

it. Construct tangents at point M and N to the circle

o Watch Video Solution



https://dl.doubtnut.com/l/_9f1jL4mL1mLa
https://dl.doubtnut.com/l/_oCQkHVicUIQE
https://dl.doubtnut.com/l/_FBlu66j09S9Q

4. Draw a circle of radius 4.2 cm and centre O. Mark a point P at a
distance of 7 cm from the centre. Draw tangents to the circle from

Points P. (March '19)

o Watch Video Solution

1. AABC~-ALMN.In AABC, AB = 5.5c¢m, BC =6 cm, CA = 45 cm. If

MN = 4.8 cm then construct AABC and ALMN

o Watch Video Solution

2. A PQR~- A PMN.In A PQR,PQ = 4cm,QR=5cmand PR=6

cm.

5
Construct A PQR and A PMN such that % =3

o Watch Video Solution



https://dl.doubtnut.com/l/_kYlOlEmsL5LM
https://dl.doubtnut.com/l/_lUvMJmlTDyCc
https://dl.doubtnut.com/l/_8HoQtPSntdmd

Assigment 51

1. The number of tangents that can be drawn to a circle at a point on the
circle is

A3

B. 2

C.1

D. infinite

Answer: C

° Watch Video Solution

2. The maximum number of tangents that can be drawn to a circle from

a point outside it is..........


https://dl.doubtnut.com/l/_8HoQtPSntdmd
https://dl.doubtnut.com/l/_tSRvZuAuRKnI
https://dl.doubtnut.com/l/_EkpBt2MgYKkb

A2

B.1

C.one and only one

D.O

Answer: A

° Watch Video Solution

3. If AD and PS are medians of A ABC and A PQR respectively

AB  AD
where A ABC-~ A PQR, Prove that m = pg"

A. A ABC'is bigger
B. A PQR is bigger
C. Both triangles will be equal

D. cannot be decided

Answer: A


https://dl.doubtnut.com/l/_EkpBt2MgYKkb
https://dl.doubtnut.com/l/_Mx0xoFMljK4h

o Watch Video Solution

Assigment 5 2

1. Draw seg AB of length 5.1 cm. Draw its perpendicular bisector

o Watch Video Solution

2. Draw AB = 9.7 cm. Take a point P on it such that A-P-B and AP =3.5

cm. Through P draw a line perpendicular to seg AB.

o Watch Video Solution

3. Draw segment AB of length 4 cm. Divide it in ratio 2: 3

o Watch Video Solution



https://dl.doubtnut.com/l/_Mx0xoFMljK4h
https://dl.doubtnut.com/l/_coFn9XvxHZ0I
https://dl.doubtnut.com/l/_goWskplLGq9C
https://dl.doubtnut.com/l/_eRLFFLMc9flh

4.Draw ZPQR = 125° . Construct its bisector

o Watch Video Solution

Assigment 5 3

1. Construct tangent to a circle with centre A and radius 3.4 cm at any

point P on it.

o Watch Video Solution

2. Draw any circle. Take any point on it and construct tangent at A

without using the centre of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_eczogpK1OlvW
https://dl.doubtnut.com/l/_XeWnAXacQcPJ
https://dl.doubtnut.com/l/_AcY71CMhggrL

3. Complete the following activity to draw a tangent to a circle at a point

on the circle

@w a circle of radius 2.2 cm with O as centre )

L Take a point P on the circle and draw ray OP j
L Draw a perpendicular line to ray OP at point P )

'

( Name the perpendicular line as /, [ is the tangent at point P )

o Watch Video Solution

Assigment 5 4

1. Draw a circle of radius 2.7 cm and draw chord PQ of length 4.5 cm.

Draw tangents at point P and Q without using the centre

o Watch Video Solution



https://dl.doubtnut.com/l/_RnJNAbiaw7SW
https://dl.doubtnut.com/l/_NjjVtb0QW8em

2. Draw a circle with centre P and radius 31 cm. Draw a chord MN of

length 3.8 cm. Draw tangents to the circle through points M and N.

o Watch Video Solution

3. Draw a circle with radius 3.2 cm. Construct tangents to the circle from

a point at a distance of 6 cm from the centre

o Watch Video Solution

Assigment 55

1. AXYZ~- A PYR.In AN XYZ, /Y =60° ,XY=45cmand YZ=51

cm and % = ; then construct A XY Z and /A PYR

o Watch Video Solution



https://dl.doubtnut.com/l/_V6PgNJwifG6O
https://dl.doubtnut.com/l/_0xgGyaJHaWBH
https://dl.doubtnut.com/l/_4GJLF5O5ebvO

2. Draw a circle of radius 3.4 cm and centre E.
Take a point F on the circle.Take another point A such that E-F-A and
FA=4.1 cm.

Draw tangents to the circle from point A.

° Watch Video Solution

3. A RST- ANUAY.In A RST,RS=6cm, ZS =50° ,sT=75cm,

RS 5
—— = — .Construct A RST and A UAY.
UA 4

° Watch Video Solution

4. Construct A PY(Q such that, PY=63 cm, YQ=7.2cm, PQ=5.8cm.If

6
% = B then construct A XY Zsimilarto A PYQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_ez60TYGCEbIB
https://dl.doubtnut.com/l/_SIBpOwWaYdyH
https://dl.doubtnut.com/l/_sMoypoiAusmW

5. Draw a sector, whose arc has angular measure 60° and radius 6 cm.

Draw a circle touching the sides of the sector and the arc.

o Watch Video Solution

Examples For Practice

1. Construct tangent to a circle with centre A and radius 3.4 cm at any

point P on it.

° Watch Video Solution

2. Draw a circle of radius 2.6 cm. Draw a tangent to the circle from any

point on the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_0rvdD7zVcnXv
https://dl.doubtnut.com/l/_Az6gszMqHXIw
https://dl.doubtnut.com/l/_h0bvVIiLuQNN

3. Draw a circle of radius 4.2 cm. Take any point K on it. Draw a tangent

to the circle without using centre of the circle.

o Watch Video Solution

4. Draw a circle with centre P and radius 3.1 cm. Draw a chord MN of

length 3.8 cm. Draw tangents to the circle through points M and N.

o Watch Video Solution

5. Draw a circle with radius 4.2 cm . Construct tangents to the circle from

a point at a distance of 7 cm from the centre .

° Watch Video Solution

6. A ABC~ A PQR, in A ABC, AB=3.6 cm,BC=4cm and AC=4.2 cm.

The corresponding sides of A ABC and A PQR are in the ratio 2 :


https://dl.doubtnut.com/l/_zP0wJvS2XTzQ
https://dl.doubtnut.com/l/_V902X4HfpZ2f
https://dl.doubtnut.com/l/_gtrTTqx3PoqC
https://dl.doubtnut.com/l/_5O9x0JblsYAa

3.Construct A ABC and A PQR.

° Watch Video Solution

7. A RKN- A SPV. In A RKN, RK = 6.4cm,

/R =60°, ZK = 50° and ﬂ = é then construct
SV 3

A RKN and A SPV.

o Watch Video Solution

8 A PSE-ATSV. In A PSE,PS = 4.4cm, SE=51cm,PE=5.5cm

CIPS 5
and — = —.
TS 3

Construct A PSE and A TSV.

o Watch Video Solution

9. N AMT~- AN AHE. In

MA
AN AMT, MA = 6.3cm, ZMAT = 120°, AT = 4.9cm and HA = %,


https://dl.doubtnut.com/l/_5O9x0JblsYAa
https://dl.doubtnut.com/l/_RTb3STHNYmsv
https://dl.doubtnut.com/l/_4FgQpQjv9jgX
https://dl.doubtnut.com/l/_B7uluzlk2yhU

Construct A AMT and /A AHE.

° Watch Video Solution

10. ASHR-ASVU. In

SH 3
ASHR,SH = 4.5¢cm, HR = 5.2cm, SR = 5.8¢cm and v — 3

construct ASVU.

o Watch Video Solution

11. Two different points P and Q are given on one side of line AB. Draw a
circle passing through the points P and Q touching the line AB in point

R.

o Watch Video Solution

12.Draw ZABC = 50°. Take a point S in the interior of ZABC. Draw

a circle passing through point S and touching the sides of ZABC.


https://dl.doubtnut.com/l/_B7uluzlk2yhU
https://dl.doubtnut.com/l/_VWwPYHZeTYhV
https://dl.doubtnut.com/l/_t4wGE7HfBubB
https://dl.doubtnut.com/l/_8UAvIoTWofxd

o Watch Video Solution

1. (B) Solve any two of the following subquestions :

AXYZ~-ADEF ,XY=51cm ,YZ==39cm,XZ =6 cm, XY : DE =3: 2,

Construct AXY Z and ADFEF.

o Watch Video Solution

2. A PQR~- A PMN. In A PQR,, PQ=4cm, QR=5cm, and PR=6cm.

5
Construct A PQR and A PMN such that % =3

o Watch Video Solution

3. A PQR~- A PMN. In A PQR,, PQ=4cm, QR=5cm, and PR=6cm.

PR 3
Construct A PQR and A PMN such that PN -5



https://dl.doubtnut.com/l/_8UAvIoTWofxd
https://dl.doubtnut.com/l/_HYZUWzR9LoSu
https://dl.doubtnut.com/l/_4VQmny8nqjtr
https://dl.doubtnut.com/l/_hHEl7BRW712S

| o Watch Video Solution I

Lets Revise Certain Constructions Studied In The Previous Standards

1. Draw seg AB of length 4.2 cm. Construct its perpendicular bisector.

o Watch Video Solution

2.Draw ZABC = 115°, construct its bisector

o Watch Video Solution

3. To construct perpendicular to a line from a point P outside it.
Question : Draw line KL such that KL=4.5 cm.
Consider point outside it. Through P, draw a line perpendicular to line

KL.

o Watch Video Solution



https://dl.doubtnut.com/l/_hHEl7BRW712S
https://dl.doubtnut.com/l/_0lt1spzDJsDB
https://dl.doubtnut.com/l/_EmYPiQBTHSpa
https://dl.doubtnut.com/l/_cBJpCa00KKGh

4.To construct an angle congruent to the given angle.

Question : Construct ZPQR congruent to given ZLMN.

° Watch Video Solution

5.To construct a line parallel to a given line and passing through a given
point outside the line.
Question : Draw a line |, take a point P outside it. Draw a line m || line |

passing through point P.

o Watch Video Solution

6. To divide a given line segment into given number of equal parts.

Question : Draw segment PQ of length 5 cm. Divide it into 4 equal parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_cBJpCa00KKGh
https://dl.doubtnut.com/l/_yZnjFvJ2qtxE
https://dl.doubtnut.com/l/_x9jsQeOFBq5A
https://dl.doubtnut.com/l/_k1bAlcB1a3De
https://dl.doubtnut.com/l/_9ywApr00FUZC

7.To divide a line segment in the given ratio.

Question : Draw segment PQ of length 5 cm. Divide it in the ratio 3:2.

o Watch Video Solution

8. To construct a triangle whose sides are given. Question : Construct

/\ ABC such that AB=4.2 cm, BC=5.3 cm and AC=3.7 cm.

o Watch Video Solution

Practice Set 4 1

1. AABC~-ALMN.In AABC, AB = 5.5¢m,BC =6 cm, CA =45 cm. If

MN = 4.8 cm then construct A ABC and ALMN

o Watch Video Solution



https://dl.doubtnut.com/l/_9ywApr00FUZC
https://dl.doubtnut.com/l/_K4dhighVLpgI
https://dl.doubtnut.com/l/_kGprHToViAnP

2. A PQR~ A LTR. In A PQR

,PQ=4.2cm,QR=5.4cm,PR=4.8cm.Construct A PQR and A LTR such

PQ 3

o Watch Video Solution

3. A RST~- N XY Z. In

A RST, RS = 4.5¢m, ZRST = 40°, ST = 5.7cm. Construct
RS 3

A RST and A XY Z such that v ~ &

o Watch Video Solution

4, AN AMT~ A\ AHEIn
AM
AN AMT, AM = 6.3cm, ZTAM = 50°, AT = 5.6¢cm. AH -~ %

Construct \ AHE.

o Watch Video Solution



https://dl.doubtnut.com/l/_LZTrEIuxiI4C
https://dl.doubtnut.com/l/_vrC5bkxGXkkr
https://dl.doubtnut.com/l/_yB8o0mjkvixz

Practice Set 4 2

1. Construct a tangent to a circle with centre P and radius 3,2 cm at any

point M on it.

o Watch Video Solution

2. Draw a circle of radius 2.7 cm. Draw a tangent to the circle at any point

on it.

° Watch Video Solution

3. Draw a circle of radius 3.6 cm. Draw a tangent to the circle at any point

on it without using the centre.

o Watch Video Solution



https://dl.doubtnut.com/l/_ccaFU8vGEsBm
https://dl.doubtnut.com/l/_JCBclB6FHWyy
https://dl.doubtnut.com/l/_LI3DxwkVdB5E

4. Draw a circle of radius 3.3 cm. Draw diameter PQ. Draw tangents at P

and Q. Write observation about the tangents.

o Watch Video Solution

5. Draw a circle with radiuys 3.4 cm. Draw a chord MN of length 5.7 cm in

it. Construct tangents at point M and N to the circle

o Watch Video Solution

6. Draw a circle with centre P and radius 3.4 cm.Take a point Q at a

distance 5.5 cm from the centre.Construct tangents to the circle from

point Q.

o Watch Video Solution



https://dl.doubtnut.com/l/_7nZ8RLqKXtnj
https://dl.doubtnut.com/l/_d6RmBOX9hjRt
https://dl.doubtnut.com/l/_hlf63A0SbZ3c

7.Draw a circle with radius 4.1 cm. Construct tangents to the circle from

a point at a distance 7.3 cm from the centre.

o Watch Video Solution

Problem Set 4

1. The number of tangents that can be drawn to a circle at a point on the

circle is

A3

B.2

C.1

D.O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_o6B2n5SvhFdT
https://dl.doubtnut.com/l/_LrqdoGSVV3Xo

2. The maximum number of tangents that can be drawn to a circle from

a point outside it is.........

A2

B.1

C.One and only one

D.O

Answer: A

o Watch Video Solution

AB
3.1f A ABC-~ A PQR and P_Q = —, then.........

A. A\ ABC'is bigger
B. A PQR is bigger

C. Both triangles will be equal


https://dl.doubtnut.com/l/_LrqdoGSVV3Xo
https://dl.doubtnut.com/l/_nrrMRhWHwEp8
https://dl.doubtnut.com/l/_CgEXgcy1koNa

D. Cannot be decided

Answer: A

o Watch Video Solution

4. Draw a circle with centre O and radius 3.5 cm. Take a point P at a
distance 5.7 cm from the centre. Draw tangents to the circle from point

P.

o Watch Video Solution

5. Draw any circle. Take any point A on it and construct tangents at A

without using the centre of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_CgEXgcy1koNa
https://dl.doubtnut.com/l/_s15rjYf9cHlt
https://dl.doubtnut.com/l/_DjlWA5JaIZbH

6. Draw a circle of diameter 6.4 cm. Take a point R at a distance equal to

its diameter from the centre. Draw tangents from point R.

o Watch Video Solution

7. Draw a circle with centre P. Draw an arc AB of 100° measure. Draw

tangents to the circle at point A and B.

o Watch Video Solution

8.Draw a circle of radius 3.4 cm and centre E.
Take a point F on the circle.Take another point A such that E-F-A and
FA=4.1 cm.

Draw tangents to the circle from point A.

o Watch Video Solution



https://dl.doubtnut.com/l/_mYhvJEzzOSsu
https://dl.doubtnut.com/l/_a4yUYNhIxmez
https://dl.doubtnut.com/l/_gjgpflc43MoB

9. AN ABC~ A LBN.n

° AC 4
A ABC, AB = 5.1ecm, /B = 40°, BC = 4.8cm, IN =7

Construct A ABC and /A LBN.

o Watch Video Solution

10. Construct A PY(Q such that, PY=6.3 cm, YQ=7.2cm, PQ=5.8cm.If

6
II::_CZQ =5 then construct A XY Zsimilarto A PYQ.

o Watch Video Solution

Challenging Question

1. Construct a right angled triangle with hypotenuse {/13cm. Draw a

circumcircle of this triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_t92uOMf8te8X
https://dl.doubtnut.com/l/_xxNuAQFF7H4w
https://dl.doubtnut.com/l/_3jNbixfq07eB
https://dl.doubtnut.com/l/_YMli1Nq7PdIa

2. Draw a circle with centre O and radius 3.2 cm. Take a points A and B on
the circle Such that ZAOB = 60°. Let the bisector of ZAOB intersect
the circle in point K. Draw a circle passing through K such that ray OA

and ray OB are tangents to it.

o Watch Video Solution

3. Construct A XYZ such that YZ=5 cm, XY+XZ=6.8 cm and

/XYZ =35°. A XPQ~ /A XYZ such that % = % Construct

A XPQ.

° Watch Video Solution

4.Draw A ABC such that, AB=8cm,BC=6cm and /B = 90°. Draw seg
BD perpendicular to hypotenuse AC. Draw a circle passing through

points B,D,A. Show that line CB is tangent of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_YMli1Nq7PdIa
https://dl.doubtnut.com/l/_GK0yzFloJ8CH
https://dl.doubtnut.com/l/_WAmbFqrj6ZdH



https://dl.doubtnut.com/l/_WAmbFqrj6ZdH

